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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
47+10= 721-10= 501 + 100 = 141 - 100 =
522 + 10 = 417-10= 51+100= 596 - 100 =
691+ 10 = 262-10= 784 + 100 = 335-100=
119+ 10= 64-10= 7+ 100 = 286 - 100 =
876+ 10 = 624-10= 41+ 100 = 168-100=
590 + 10 = 774-10= 123+ 100 = 794 - 100 =
629 + 10 = 816-10= 597 + 100 = 434-100=
197 + 10 = 76-10=_ 22 +100 = 983 - 100 =
557 + 10 = 605 - 10 = 216 + 100 = 481-100=
584 + 10 = 967 - 10= 316 + 100 = 121-100 =
639 + 10 = 209-10= 715+ 100 = 199-100=
565 + 10 = 612-10= 536 + 100 = 107-100=
454 +10= 233-10= 56 + 100 = 771-100=
264 + 10 = 874-10= 393 + 100 = 663 - 100 =
260+ 10 = 895-10= 713+ 100 = 283 - 100 =
331+10= 506 - 10 = 177 + 100 = 977 - 100 =
1+10=__ 943-10= 102 + 100 = 271-100=
615+ 10 = 664 - 10 = 16 + 100 = 770- 100 =
472 +10= 593-10= 270+ 100 = 863 - 100 =
723+10= 456 - 10 = 525 + 100 = 648 - 100 =
845+ 10 = 718-10= 206 + 100 = 372-100=
148 + 10 = 50-10=_ 638 + 100 = 846 - 100 =
909 + 10 = 207-10= 66 + 100 = 244 - 100 =
367 + 10 = 992-10= 284 + 100 = 837 -100 =
797 +10= 404-10= 375+ 100 = 732-100=
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Adding and Subtracting 10s and 100s Name: Answer Key
Fill in the blanksfor each problem.
47+10=_ 57 721-10=_ 711 501+100= 601 141-100=_ 41
522+10= 532 417-10= 407 51+100= 151 596-100= 496
691+10=_ 701 262-10= 252 784+100= 884 335-100=_ 235
119+10=_ 129 64-10= 54 7+100=_ 107 286-100=_ 186
876+10= 886 624-10= 614 41+100= 141 168-100= 68
500+10=_ 600 774-10=_ 764 123+100=_ 223 794-100= 694
629+10= 639 816-10= 806 597 +100= 697 434-100= 334
197 +10= 207 76-10= 66 22+100= 122 983-100= 883
557 +10= 567 605-10= 595 216 +100= 316 481-100= 381
584 +10= 594 967-10= 957 316 +100= 416 121-100=_ 21
639+10= 649 209-10=_ 199 715+100= 815 199-100= 99
565+10= 575 612-10=_ 602 536 +100= 636 107-100=__ 7
454 +10= 464 233-10=_ 223 56+100= 156 771-100= 671
264+10= 274 874-10= 864 303+100=_ 493 663-100= 563
260+10=_ 270 895-10= 885 713+100= 813 283-100=_ 183
331+10= 341 506-10=_ 496 177+100= 277 977-100= 877
1+10=_ 11 943-10=_ 933 102+100=_ 202 271-100=_ 171
615+10=_ 625 664-10=_ 654 16+100=_ 116 770-100= 670
472+10= 482 503-10= 583 270+100=_ 370 863-100= 763
723+10= 733 456-10= 446 525+100= 625 648-100= 548
845+10= 855 718-10= 708 206 +100= 306 372-100=_ 272
148+10= 158 50-10= 40 638+100= 738 846-100= 746
909+10=_919 207-10= 197 66 +100= 166 244-100= 144
367+10=_ 377 992-10= 982 284+100= 384 837-100= 737
797+10= 807 404-10= 394 375+100= 475 732-100= 632
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